Lesture 6 e
bb - Toverse Trigorombric. Funthioe
orcgnx (=g x)

Qeé{x(&'moc, glfﬁe; domon  6f  gux To
we con make, 't one-to-ore. The mvgc s

ctill . Ths allows s o &@Ume an

) . ) . .
inveyrse 8sme %Mnjjwﬂ‘ af‘CSm(X)

@ (arcsin x) = //Q(arcsfn x) =

Ex: 8\/&\%‘\76 bun(Of‘CS'm(%))

Ex: Find o foerde i doems o % P <0s{aresin(x)



—I'F aFCS'W\X:-Y = X'—'-S'm\/

(D'{%Q@r em‘bwfhag al\/es y

> ‘j)% (orcs}n x) =
od W chan rule e
5%'( OVGS'm(g,(x))):

Wktf)l\ }\OU)S 700'{‘ X \ralu&s in d(‘,‘Re, Oﬂo‘m;n o{ (9
and  such 4hat “[égbc)é\,

B Diflastate 1 =aresn(e”). W
\t‘RQ oﬂoma:n O—P %()7



( L—D;'_:

Arccos X {-'—005' x)

=

TO YY\QLQL os X Ong-To-o0ne , we {‘e.s‘i;rlc,‘!e Q{'ke
cﬁomaln ‘ED . ﬂis \& us 00€37Cme

arccos X .

/D (arccos X\ - ?(af‘ccos X )=
Siml\a\'{\( % ACSIN X . we  can nﬁ,wﬂ C'CR@ o@er walwe*
£ areasl) -

arcton x (-"-'. JUan'lx)

RQ&J‘ u‘fbvg ‘[70 oNng Pwiai 510 ‘ﬁ—anx g
we  can make, 1‘{7 onef“iw'one, w\‘\fp\ Q. tange g\P .
“ﬂ\u.s, C[TK{Z, nvevse %Qﬁ?f(? YQumo fon - urc/“ban X

bﬁjgﬂ% D{aﬁ:‘[:m x) = ?(arc nx) =

Ex: Svaluite Sin(arc‘fmn(é)) :

———

/




[o-"
\/\/T\%’t\(& \/—'—OT‘C&?&Y\ )(,. we \‘\ave ‘%un Y:X )

(Dﬁqf@m&nﬂﬁg :

Ex: Lot )=0«n‘:\zm(\n(&-'xg‘))‘ Whet e
dowain & F07 Whib s 700 7



\n'bQﬁréhoﬂ 2
WQ, con TenveNse % CQW \VC]TWQS we ‘Uqu\zﬂ alaove

dx =




